
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : IV

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (30+30+40)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. 'Hornbill Festival' is observed in ..................
"c÷Sï×[ý_ =da¾' Yç_X Eõ»ç c÷Ì̂  .........................................*
"c÷Sï×[ý_ =da[ý' Yç_X EõÌ[ýç c÷Ì̂  .........................................*
(a) Assam (b) Nagaland (c) Mizoram (d) Tripura

%a]Tö XçGçå_‰øTö ×]ãLç»ç]Tö ×ÅyYÇ»çTö
%çaçã] XçGç_îçã³Qö ×]ãLçÌ[ýçã] ×ÅyYÇÌ[ýçãTö

2. The stadium that is called the 'Mecca of cricket' ..............
×yÔãEõ$Oô» ]hõç c'÷_ ...................................... ærô×QöÌ̂ ç]
×yÔãEõäOôÌ[ý ]hõç c÷_ ........................................... æºOô×QöÌ̂ ç]*
(a) Lords (England) (b) Oval (England)

+eã_‰ø» _Qïö$K÷ +eã_‰ø» %\öç_
+eå_ã³QöÌ[ý _Qïöa +eå_ã³QöÌ[ý C\öç_

(c) Eden (Calcutta) (d) Wankhade (Mumbai)
Eõ_EõçTöç» +ãQöX ]Ç¶‘öç+» ¾çeFçãQö
Eõ_EõçTöçÌ[ý +ãQöX ]Ç¶‘öç+Ì[ý CÌ̂ çeFçäQÍö

3. Complete the proverb : It is easy to be wise after the ..........................
$JÇô» Gã_ [ýÇ×ˆù ........................
æ»JôçÌ[ý åGã_ [ýÇ×ˆù ............................
(a) Knowledge (b) Class (c) Marriage (d) Event

Eõã] %çãc÷ ^çÌ̂ [ýçä$RÍô
Eõã] %çãa ^çÌ̂ [ýçäQÍö

4. The first person to win 'Dada Saheb Phalke Award' from Assam
%a]» Y»ç "VçVç $Jôçãc÷[ý Zõç_ãEõ' [ýg$Oôç ×[ýLÌ̂ Ý YÒU] [ýî×Nþ ............................
%çaç] åUãEõ "VçVç açãc÷[ý Zõç_ãEõ' YÇÌ[ý•õçÌ[ý ×[ýLÌ̂ Ý YÒU] [ýî×Nþ ......................
(a) Maloya Goswami (b) Dr. Bhupen Hazarika (c) Jubin Garg (d) Biju Phukan

]_Ì̂ ç åGçØ‘öç]Ý Qö0 \ÉöãYX c÷çL×»Eõç LÇ×[ýX GçGï ×[ýLÇ ZÇõEõX
]_Ì̂ ç åGçØ‘öç]Ý Qö0 \ÉöãYX c÷çLç×Ì[ýEõç LÇ×[ýX GçGï ×[ýLÇ ZÇõEõX

5. Which one of the following is not a daily newspaper from Assam ?
Tö_» åEõçXä$Oôç %a]» Y»ç YÒEõç×`Tö éV×XEõ [ýçTö×» EõçEõTö Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô %çaç] åUãEõ YÒEõç×`Tö éV×XEõ ae[ýçVYy XÌ̂  ?
(a) Dainik Agradoot (b) Pratidin (c) Dainik Janambhumi (d) None of these

éV×XEõ %GÐVÉTö YÒ×Tö×VX éV×XEõ LX]\Éö×] A$OôçC Xc÷Ì̂
éV×XEõ %GÐVÉTö YÒ×Tö×VX éV×XEõ LX]\Éö×] AEõ×OôC XÌ̂
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6. Kishan Baburao is popularly known as ..................
×EõbçX [ýç[ýÇ»çC .............................. Xçã]ä» LX×YÒÌ̂ *
×EõbçX [ýç[ýÇÌ[ýçC ................................... Xçã] LX×YÒÌ̂ *
(a) Baba Ramdev (b) Anna Hazare (c) Swami Agnivesh (d) Arbind Kejriwal

[ýç[ýç »ç]ãV¾ %ç~ç c÷çLçã» Ø‘öç]Ý %×GÂã[ý` %»×[ý³V åEõL×»¾ç_
[ýç[ýç Ì[ýç]ãV[ý %ç~ç c÷çLçãÌ[ý Ø‘öç]Ý %×GÂã[ý` %Ì[ý×[ý³V åEõL×Ì[ýCÌ̂ ç_

7. Which of the following districts in Assam is the largest in terms of area ?
%a]» åEõçX ×L_ç ]ç×Oô-Eõç×_» ×c÷$JôçYTö aEõã_çTöêEõ QöçIø» ?
%çaçã]Ì[ý åEõçX åL_ç ålùyZõã_Ì[ý ×c÷açã[ý a[ý»Jôç+ãTö [ýQÍö ?
(a) Nagaon (b) Kamrup (c) Karbi Anglong (d) Cachar

XGçCg Eõç]»ÖY Eõç×[ýï %çe_e Eõç$K÷ç»
XGçCg Eõç]Ì[ýÖY Eõç×[ýï %çe_e Eõç»K÷çQÍö

8. Manila is the capital of ..................
]ç×X_ç .......................... »çLWýçXÝ
]ç×X_ç ........................... Ì[ýçLWýçXÝ
(a) Malvdives (b) Singapore (c) Mauritus (d) Philippines

]ç_¥ÝY» ×$K÷†çYÇ»» ]×»`ça» ×Zõ×_×YX»
]ç_¥ÝãYÌ[ý ×a†çYÇãÌ[ýÌ[ý ]×Ì[ý`çãaÌ[ý ×Zõ×_×YãXÌ[ý

9. The ancient Nalanda University was located in the state of .................
YÒç$JôÝX Xç_³Vç ×[ý`Ÿ×[ýVîç_Ì̂  [ýTöÛ]çX \öç»Tö» åEõçX »çLîTö %¾×ØšöTö %ç×$K÷_ ?
YÒç»JôÝX Xç_³Vç ×[ý`Ÿ×[ýVîç_Ì̂  [ýTöÛ]çX \öçÌ[ýãTöÌ[ý åEõçX Ì[ýçãLî %[ý×ØšöTö ×»K÷_ ?
(a) Uttaranchal (b) Jharkhand (c) Bihar (d) Madhya Pradesh

=wø»ç‡û_ Mõç»F‰ø ×[ýc÷ç» ]WýîYÒãV`
=wøÌ[ýç‡û_ MõçÌ[ýF‰ø ×[ýc÷çÌ[ý ]WýîYÒãV`

10. The term "Bishop' is associated with which game ?
"×[ý`Y' `Œä$Oôç åEõçX åF_» _GTö L×QÍöTö ?
"×[ý`Y' `Œ×»Oô åEõçX åF_çÌ[ý açãU L×QÍöTö ?
(a) Golf (b) Chess (c) Bridge (d) Billiards

G'_Zõ Vç[ýç ×[ýÐL ×[ý×_Ì^çQïöa
G·Zõ Vç[ýç ×[ýÐL ×[ý×_Ì^çQïöa

11. Which city is known as the city of Seven Hills ?
Tö_» åEõçX XG» "açTö Yçc÷ç»» XG»' Xç] Y×»×$JôTö ?
XÝä»JôÌ[ý åEõçX XGÌ[ý "açTö Yçc÷çäQÍöÌ[ý XGÌ[ý' Xçã] Y×Ì[ý×»JôT ?ö
(a) Delhi (b) Mumbai (c) Bangaluru (d) Chennai

×V{Ý ]Ç¶‘öç+ [ýç†ç_Ç»Ó æ$Jô~ç+
×V{Ý ]Ç¶‘öç+ [ýç†ç_ÇÌ[ýÓ æ»Jô~ç+
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12. What is common among the follwing ?
Tö_» $K÷×[ý ×[ý_çEõ» ]çLTö ×Eõ ×]_ %çä$K÷ ?
XÝä»JôÌ[ý Zõä»Oôçm×_Ì[ý ]ãWýî ×Eõ ×]_ %çä»K÷ ?

               

(a) All of them were the recipients of Dada Saheb Phalke Award
ACgã_çãEõ "VçVç $Jôçãc÷[ý Zõç_ãEõ' [ýg$Oôç ×[ýLÌ̂ Ý
AÌ[ýç a[ýç+ "VçVç açãc÷[ý Zõç_ãEõ' YÇÌ[ý•õçÌ[ý ×[ýLÌ̂ Ý

(b) All of them were related to Indian Cinema
ACgã_çEõ \öç»TöÝÌ̂  å[ýç_$K÷×[ý» _GTö L×QÍöTö %ç×$K÷_
AÌ[ýç a[ýç+ \öçÌ[ýTöÝÌ̂  »Jô_×¬JôäyÌ[ý açãU L×QÍöTö ×»K÷ã_X

(c) All of them passed away in 2011
aEõã_çä» ]c÷çYÒÌ̂ çS c÷Ì̂  2011 $JôXTö
aEõã_Ì[ý ]c÷çYÒÌ̂ çS c÷Ì̂  2011 aãX

(d) All of these
=Y»» %ç$Oôç+ãEõ+$Oôç
=YãÌ[ýÌ[ý a[ý EõÌ̂ ×»Oô

13. Find out the odd one :
%£ˆù =wø»ä$Oôç =×_C¾ç f
%×]_ =wøÌ[ý×»Oô [ýç×c÷Ì[ý EõÌ[ý f

(a) (b) (c) (d) =
14. 'Boxing Day' falls on .............

"[ý×je åQö' c÷'_ ..............................*
"[ý×je åQö' c÷_ .............................*
(a) 24th December (b) 26th December (c) 31st December (d) 5th January

24 ×Qöä$Jô¶‘ö» 26 ×Qöä$Jô¶‘ö» 31 ×Qöä$Jô¶‘ö» 5 LçXÇ¾ç»Ý
24 ×Qöãa¶‘öÌ[ý 26 ×Qöãa¶‘öÌ[ý 31 ×Qöãa¶‘öÌ[ý 5 LçXÇÌ̂ çÌ[ýÝ

15. Potato chips 'BINGO!' is a product of ...................
'BINGO!' åEõçXä$Oôç åEõç¶oYçXÝ» =dYç×VTö aç]GÐÝ ?
'BINGO!' åEõçX åEõç¶YçXÝÌ[ý =dYç×VTö aç]GÐÝ ?
(a) Parle (b) ITC (c) Bikaji (d) Haldiram

Yçã_ï %ç+.×$Oô.×$Jô. ×[ýEõçLÝ c÷_×V»ç]
Yçã_ï %ç+.×»Oô.×a. ×[ýEõçLÝ c÷_×VÌ[ýç]
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16. India's longest train service is ...................
aEõã_çTöêEõ %×WýEõ VÉ»±¼ö %×TöyÔ] Eõ»ç \öç»Tö» å»_GçQÍöÝFX» Xç] ..........................*
a[ý»Jôç+ãTö å[ý`Ý VÉÌ[ý±¼ö %×TöyÔ] EõÌ[ýç \öçÌ[ýãTöÌ[ý åÌ[ý_GçQÍöÝÌ[ý Xç] .................................*
(a) Vivek Express (b) Himsagar Express

×[ýã[ýEõ AjäYÒ$K÷ ×c÷]açG» AjäYÒ$K÷
×[ýã[ýEõ AjäYÒa ×c÷]açGÌ[ý AjäYÒa

(c) Dibrughar-Chennai Express (d) Kerala Express
×Qö[ýÐÓGQÍö-æ$Jô~ç+ AjäYÒ$K÷ åEõ»ç_ç AjäYÒ$K÷
×Qö[ýÐÓGQÍö-æ»Jô~ç+ AjäYÒa åEõÌ[ýç_ç AjäYÒa

17. If an earthquake occurs, the safest place for shelter is .......................
\Éö×]Eõ¶Y» a]Ì̂ Tö %ç`ÒÌ̂  å_ç¾ç» Eõç»ãS aEõã_çTöêEõ ×X»çYV ØšöçX ...................................*
\Éö×]Eõä¶YÌ[ý a]Ì̂  %ç`ÒÌ̂  åXCÌ̂ çÌ[ý LXî a[ý»Jôç+ãTö ×XÌ[ýçYV ØšöçX ...............................*
(a) An open space (b) The corner of a room

]ÇNþØšöçX H»» æ$JôçEõ
åFç_ç LçÌ̂ Gç HãÌ[ýÌ[ý åEõçXç

(c) Under a wooden bed (d) Under the staircase
EõçPö» ×[ý$K÷Xç» Tö_Tö ×$K÷×»» Tö_Tö
EõçäPöÌ[ý ×[ý»K÷çXçÌ[ý XÝä»Jô ×a×QÍöÌ[ý XÝä»Jô

18. Which of the following is not a traditional Assamese ornament used by women ?
Tö_» åEõçXä$Oôç %a]» ]×c÷_çaEõ_» Y»¶Y»çGTö %_eEõç» Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô %aã]Ì[ý ]×c÷_çãVÌ[ý YÌ[ý¶YÌ[ýçGTö %_áøçÌ[ý XÌ̂  ?
(a) Chandrahar (b) Keru (c) Golpota (d) Jonbidi

$Jô³VÐc÷ç» åEõ»Ó G_YTöç åLçX×[ý×»
»Jô³VÐc÷çÌ[ý åEõÌ[ýÓ G_YTöç åLçX×[ý×Ì[ýö

19. Day and night are the result of .............
×VX %ç»Ó »ç×Tö åc÷ç¾ç» Eõç»S .............*
×VX AÌ[ýe Ì[ýç×Åy c÷CÌ̂ çÌ[ý EõçÌ[ýS .........................*
(a) Earth's rotation around its axis (b) Earth's revolution

YÊ×U¾Ý» ×XL» %lùä»FçTö HÉ»çTö YÊ×U¾Ý» %ç¾TöÛX
YÊ×U[ýÝÌ[ý ×XãLÌ[ý %lùãÌ[ýFçÌ̂  HÉSïãX YÊ×U[ýÝÌ[ý %ç[ýTöÛX

(c) Earth's rotation accompanied with its revolution (d) None of these
%ç¾TöÛX» _GTö YÊ×U¾Ý» ×XL» EõlùYUTö HÉ»çTö A$OôçC Xc÷Ì̂
%ç[ýTöÛãXÌ[ý a×c÷Tö YÊ×U[ýÝÌ[ý ×XãLÌ[ý EõlùYãU HÉSïX AEõ×»OôC XÌ̂

20. Mathura, Agra, Allahabad are situated on the bank of ................
]UÇ»ç, %çGÐç, A_çc÷ç[ýçV .............................. XVÝ» Yç»Tö %¾×ØšöTö*
]UÇÌ[ýç, %çGÐç, A_çc÷ç[ýçV ................................ XVÝÌ[ý TöÝãÌ[ý %[ý×ØšöTö*
(a) Ganga (b) Yamuna (c) Beas (d) Saraswati

GeGç ^]ÇXç ×[ýÌ^ç$K÷ a»Ø‘öTöÝ
G†ç ^]ÇXç ×[ýÌ̂ ça aÌ[ýØ‘öTöÝ
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21. Which of the following traffic signals signifies 'No Parking Zone' ?
®Ïôç×ZõEõ ×$K÷GXç_Eõ åEõçX VỀ îä$Oôçã¾ "X Yç×Eïõe LX' [ýÇLçÌ̂  ?
®Ïôç×ZõEõ ×aGXîçã_Ì[ý åEõçX »K÷×[ý×»Oô "åXç Yç×Eïõe åLçX' [ýÇMõçÌ̂  ?

(a) (b) (c) (d)

22. 'Fair & Lovely', a beauty cream is a product of ...............
"åZõÌ̂ ç» A‰ø _ç\ö_Ý' A×$Oô åaì³V ï̂î yÔÝ] .......................... åEõç¶YçXÝ» aç]GÐÝ*
"åZõÌ̂ çÌ[ý A³Qö _ç\ö_Ý' AEõ×»Oô åaì³V ï̂ yÔÝ] ............................. åEõç¶YçXÝÌ[ý aç]GÐÝ*
(a) Hindustan Unilever   (b) Lakme India (c) Godrej (d) ITC

×c÷³VÇØ™öçX +=×X×_\öç»   å_Eõ]Ý +×‰øÌ̂ ç GQöã»L %ç+.×$Oô.×$Jô
×c÷³VÇØ™öçX +=×X×_\öçÌ[ý   å_Eõ]Ý +×‰øÌ̂ ç åGçVãÌ[ýL %ç+.×»Oô.×a

23. The logo given below represents ............. /  Tö_» YÒTöÝEõä$Oôç Eõç» ? / XÝä»JôÌ[ý YÒTöÝEõ ×»Jôc÷Ô ×EõãaÌ[ý ?

(a) UNESCO (b) UNICEF (c) WHO (d) ILO
+=ãX$JôEËõ +=×Xä$JôZõ ×[ý`Ÿ Ø‘öçØšöî aeØšöç %çÜ™öLÛç×TöEõ `Ò×]Eõ aeØšöç
+=ãXaãEõç +=×XãaZõ ×[ý`Ÿ Ø‘öçØšöî aeØšöç %çÜ™öLÛç×TöEõ `Ò×]Eõ aeØšöç

24. Which of the following is used on the day of 'National Mourning'?
"»çrÑôÝÌ̂  å`çEõ ×V¾a'Tö Tö_» åEõçX YTöçEõç [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
"Ì[ýçrÑôÝÌ̂  å`çEõ ×V[ýãa' XÝä»JôÌ[ý åEõçX YTöçEõç [ýî[ýc÷çÌ[ý c÷Ì̂  ?
(a) National Flag at half mast (b) White flag

%Wýï×X¶oö %¾ØšöçTö LçTöÝÌ̂  YTöçEõç [ýGç YTöçEõç
%Wýï×X¶oö %[ýØšöçÌ̂  LçTöÝÌ̂  YTöçEõç açVç YTöçEõç

(c) National Flag hoisted upside down (d) Black flag
LçTöÝÌ̂  YTöçEõç» =Y×»\öçG ×X¶oö]ÇFÝ Eõ_ç YTöçEõç
LçTöÝÌ̂  YTöçEõçÌ[ý =Y×Ì[ý\öçG ×X¶oö]ÇFÝ Eõçã_ç YTöçEõç

25. If the digits of the number 5726489 are arranged in ascending order, how many digits will
remain at the same position ?
^×V 5726489 X¶‘ö»ä$Oôç» aeFîçã[ýç»Eõ >WýïfyÔ]Tö aãLç¾ç c÷Ì̂  åTöãXc÷ã_ ×Eõ]çX$Oôç aeFîç YÉ[ýïØšöçXTö Uç×Eõ[ý ?
^×V 5726489 X¶‘öÌ[ý×»OôÌ[ý aeFîçm×_ãEõ >WýïfyÔã] açLçãXç c÷Ì̂  Töã[ý EõÌ̂ ×»Oô aeFîç YÉ[ýïØšöçãX [ýLçÌ̂  UçEõã[ý ?
(a) None (b) One (c) Two (d) Three

A$OôçC Xc÷Ì̂ AEõ VÇ+ ×Tö×X
AEõ×»OôC Xç AEõ VÇ+ ×TöX
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26. 'Tea Research Center' in Assam is in the district of ...................
"$Jôç Gã¾bSç åEõ³VÐ' %a]» åEõçX ×L_çTö %¾×ØšöTö ?
"»Jôç Gã[ýbSç åEõ³VÐ' %çaçã]Ì[ý åEõçX åL_çÌ̂  %[ý×ØšöTö ?
(a) Dibrugarh (b) Digboi (c) Jorhat (d) Golaghat

×Qö[ýÐÓGQÍö ×QöGê[ý å^ç»c÷ç$Oô åGç_çHç$Oô
×Qö[ýÐÓGQÍö ×QöGê[ý å^çÌ[ýc÷ç»Oô åGç_çHç»Oô

27. 'Vidya Balan' is adjudged the best actrees in the National Fim Award for her role in ..............
åEõçXFX å[ýç_$K÷×[ý» Eõç»ãS »çrÑôÝÌ̂  $Jô_×¬Jôy [ýg$OôçTö ×[ýVîç [ýç_X» Xç] æ`Òrô %×\öãXyÝ ×c÷$JôçãY åHçbSç Eõ»ç c÷Ì̂  ?
åEõçX »K÷×[ýÌ[ý LXî Ì[ýçrÑôÝÌ̂  »Jô_×¬Jôy YÇÌ[ý•õçãÌ[ý ×[ýVîç [ýç_ãXÌ[ý Xç] æ`Òœö %×\öãXyÝ ×c÷açã[ý åHçbSç EõÌ[ýç c÷Ì̂  ?
(a) The Dirty Picture (b) Kahani (c) No One Killed Jessica (d) Ishqiya

Vîç Qöç×$OôÛ ×Y$Eõ$Jôç» Eõçc÷çXÝ X C¾çX ×Eõ_'Qö åL×aEõç +$K÷×EõÌ̂ ç
Vîç Qöç×OôÛôÛ ×YEõ»JôçÌ[ý Eõçc÷çXÝ åXç CÌ̂ çX ×Eõ_QËö åL×aEõç +a×EõÌ^ç

28.  stands for / $K÷×[ýä$Oôç ×Eõc÷» / »K÷×[ý×»Oô ×EõãaÌ[ý ?

(a) Fashion TV (b) Facebook (c) Football World Cup (d) None of these
åZõ`ŸX ×$Oô×\ö åZõ$Jô[ýÇEõ ZÇõ$Oô[ý_ ×[ý`ŸEõçY A$OôçC Xc÷Ì̂
åZõ`X ×»Oô×\ö åEõa[ýÇEõ ZÇõ»Oô[ý_ ×[ý`ŸEõçY AEõ×»OôC XÌ̂

29. In Mahabharata, Kunti's eldest son is ...............
]c÷ç\öç»TöTö EÇõÜ™öÝ» QöçIø» YÇy ................................*
]c÷ç\öçÌ[ýãTö EÇõÜ™öÝÌ[ý åLîœö YÇy ............................*
(a) Yudhistir (b) Bhima (c) Karna (d) Arjun

Ç̂×Wý×œö» \öÝ] EõSï %LÇÛX
Ç̂×Wý×rôÌ[ý \öÝ] EõSï %LÇÛX

30. The 'Signatory Authority' of RBI in currency notes above Rs. 1 denomination is vested with .....
AEõ $OôEõç» =Y»» åXç$OôTö $Jôc÷Ý Eõ»ç» lù]Töç ×»Lç\öÛ å[ýeEõ» ........................................ » c÷çTöTö UçãEõ*
AEõ »OôçEõçÌ[ý =YãÌ[ýÌ[ý åXç»Oôm×_ãTö Ø‘öçlùÌ[ý EõÌ[ýçÌ[ý lù]Töç ×Ì[ýLç\öÛ [ýîçãáøÌ[ý .................................... c÷çãTö UçãEõ*
(a) Governor (b) Chairman (c) President (d) Secretary

G\öXï» ×$JôÌ̂ ç»ã]X æYÒ×$K÷ãQö°Oô æ$K÷ãyÔ$Oôç»Ý
G\öXïãÌ[ýÌ[ý æ»JôÌ̂ çÌ[ý]îçãXÌ[ý åYÒ×aãQöä³OôÌ[ý åaåyÔ»Oôç×Ì[ýÌ[ý
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General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

31. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×»Oô aTöî ?
(a) Plants do not move (b) A stone can walk on its own

=×àöãV $Jô_ç-×Zõ»ç Eõ×»[ý åXç¾çã» ×`_ AOôç+ ×XãL $Jô_ç-×Zõ»ç Eõ×»[ý Yçã»
=×àöV »Jô_çãZõÌ[ýç Eõ×Ì[ýãTö YçãÌ[ý Xç AEõ×»Oô YçUÌ[ý ×XãL »Jô_çãZõÌ[ýç Eõ×Ì[ýãTö YçãÌ[ý

(c) Plants are non-living things (d) Animals can give birth to young ones
=×àö éc÷ã$K÷ LQÍö YVçUï YÒçSÝãÌ̂  åYç¾ç_Ý LX½ ×V[ý Yçã»
=×àöV c÷+_ LQÍö YVçUï YÒçSÝ aÜ™öçX YÒa[ý Eõ×Ì[ýãTö YçãÌ[ý*

32. In cactus plants, photosynthesis occurs in ...................
açG» åZõSç» ................................. Tö açã_çEõ aeä`ÀbS c÷Ì̂
Eõîçkôça =×àöãVÌ[ý ...................... açã_çEõ aeä`ÀbS c÷Ì̂
(a) leaves (b) spines (c) roots (d) stem

YçTö Eõçg+$Oô ×`Yç Eõç‰ø
YçTöçÌ̂ Eõçg»OôçÌ̂ ]Éã_ Eõçã‰ø

33. Animals living in deserts have ...........................
]»Ó\Éö×]Tö [ýça Eõ»ç LÝ¾» ...............................*
]Ì[ýÓ\Éö×]ãTö [ýça EõÌ[ýç LÝã[ýÌ[ý ................*
(a) thick fur (b) thick skin (c) both 'a' & 'b' (d) thick layer of fat

QöçPö åXç] UçãEõ QöçPö $K÷ç_ UçãEõ 'a' %ç»Ó 'b' =\öÌ̂ QöçPö $Jô[ýÞ» Ø™ö» UçãEõ
å_ç] HX c÷Ì̂ ±¼öEõ å]ç»Oôç c÷Ì̂ 'a' A[ýe 'b' VÇ×»Oô+ »Jô×[ýïÌ[ý Ø™öÌ[ý HX c÷Ì̂

34. In a food chain, the primary consumer is ..................
FçVî ̀ ÊeF_Tö YÒU] æ`ÒSÝ» \ölùEõ éc÷ä$K÷ ...........................*
FçVî ̀ ÊeF_çÌ̂  YÒU] æ`ÒSÝÌ[ý \ölùEõ c÷+_ .....................*
(a) Producer (b) Herbivore (c) Carnivore (d) None of these

=dYçVEõ TÊöSã\öçLÝ ]çeaã\öçLÝ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

35. Which of the following processes is responsible for the release of oxygen by plants ?
Tö_» åEõçXä$Oôç YÒ×yÔÌ̂ çTö =×àöV» Y»ç %×jãLX ×XGïTö c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX YÒ×yÔÌ̂ çÌ̂  =×àöV åUãEõ %×jãLX ×XGïTö c÷Ì̂  ?
(a) respiration (b) Digestion (c) Reproduction (d) Photosynthesis

`ŸaX Yç$JôX YÒLXX açã_çEõ aeä`ÀbS

36. Find the odd one out / %ç×]_ä$Oôç [ýç×$K÷ =×_C¾ç / %×]_×»Oô [ýç×c÷Ì[ý EõÌ[ý f
(a) Ginger (b) Onion (c) Potato (d) Carrot

%çVç ×YÌ̂ gçL %ç_Ç GçL» / GçLÌ[ý
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37. Which of the follwing is possessed by a tadpole but not by an adult frog ?
Tö_» åEõçXä$Oôç _ç_ÇEõÝ» %çä$K÷ ×EõÜ™Çö å\öEÇõ_Ý» Xç+ ?
XÝä»JôÌ[ý åEõçX×»Oô [ýîçãIøÌ[ý åX+ ×EõÜ™Çö å[ýIøç×»JôÌ[ý %çä»K÷ ?
(a) Eye (b) Tail (c) Kidney (d) Lungs

$JôEÇõ / æJôçF åXL / å_L [ýÊhõ / ]Éyç`Ì̂ c÷çCZõçC / ZÇõaZÇõa

38. Which of the following sets represents mammals ?
Tö_» åEõçXä$Oôçã¾ åEõ¾_ Ø™öXîYçÌ̂ Ý YÒçSÝEõ [ýÇLçÌ̂  ?
Ø™öXîYçÌ̂ Ý YÒçSÝÌ[ýç c÷_ ......................*
(a) Lions, hen and deer (b) Lions, Dolphin and Whale

×aec÷, EÇõEÇõ»ç %ç»Ó c÷×»S ×aec÷, Qö_×ZõX %ç»Ó ×Tö×]]ç$K÷
×aec÷, ]ÇÌ[ýGÝ A[ýe c÷×Ì[ýS ×aec÷, Qö_×ZõX A[ýe ×Tö×]]ç»K÷

(c) Tiger, sheep and crocodile (d) Birds, cats and frog
[ýçH, å\öQÍöç %ç»Ó H×»Ì̂ ç_ $Jô»ç+, å]EÇõ»Ý %ç»Ó å\öEÇõ_Ý
[ýçH, å\öQÍöç A[ýe EÇõ]ÝÌ[ý YçFÝ, ×[ýQÍöç_ A[ýe [ýîçIø

39. Plants and animals help in maintaining the balance of .....................
=×àöV %ç»Ó YÒçSÝãÌ̂  ........................................ » \öç»aç]î »lùç Eõ»çTö ac÷çÌ̂  Eõã»*
=×àöV A[ýe YÒçSÝ ......................... \öçÌ[ýaç]î Ì[ýlùç EõÌ[ýçÌ̂  ac÷çÌ̂  EõãÌ[ý*
(a) Trees and animals (b) Oxygen and carbon-dioxide

G$K÷-G$K÷×X %ç»Ó YÒçSÝ %×jãLX %ç»Ó Eõç[ýïX-Qöç+-%jç+Qö
Gç»K÷Yç_ç A[ýe YÒçSÝÌ[ý %×jãLX A[ýe Eõç[ýïX Qöç+ %jç+ãQöÌ[ý

(c) Green plants and plant eaters (d) Water and minerals
åa=LÝÌ̂ ç =×àöV %ç»Ó +Ì̂ ç» \ölùEõ YçXÝ %ç»Ó F×XL _¾X
a[ýÇL =×àöV A[ýe =×àöV \ölùãEõÌ[ý L_ A[ýe F×XL YVçãUïÌ[ý

40. Which of the following characteristics will not be an advantage to the animals living in the ocean ?
Tö_» åEõçXä$Oôç é[ý×`rô ]c÷çaçG»Tö [ýça Eõ»ç YÒçSÝ» [ýçã[ý _ç\öVçÌ̂ Eõ Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX é[ý×`rô ]c÷çaçGãÌ[ý [ýça EõÌ[ýç YÒçSÝÌ[ý LXî _ç\öVçÌ̂ Eõ XÌ̂  ?
(a) A smooth body (b) Water filtering structure

×X]L åVc÷ç YçXÝ Y×»Øƒöç¾X Eõ×»[ý Y»ç GgçU×X
AEõ×»Oô ]aÊS åVc÷ L_ Y×Ì[ýØƒöç[ýX Eõ×Ì[ýãTö YçÌ[ýç GPöX

(c) Long body hair (d) Presence of webbed feet
`»Ý»Tö UEõç VÝH_ åXç] æPöeTö YTöç UEõç
`Ì[ýÝãÌ[ýÌ[ý _¶‘öç å_ç] Lçã_Ì[ý XîçÌ̂  Yç

41. An organ in our body which filters blood and removes waste materials is .............
%ç]ç» `»Ý»Tö UEõç A×[ýWý %eG ×^ä$OôçãÌ̂  åTöL Y×»Øƒöç¾X Eõ×» [ý×LÛTö YVçUï ×F×X =×_Ì̂ ç+ ×VãÌ̂ *
`Ì[ýÝãÌ[ýÌ[ý å^ %eG Ì[ýNþ Y×Ì[ýØƒöç[ýX EõãÌ[ý [ý×LÛTö YVçUï [ýç×c÷Ì[ý Eõ×Ì[ýÌ̂ ç åVÌ̂  ..........................*
(a) Urine (b) Urinary bladder (c) Kidney (d) Blood

]Éy ]ÉyØšö_Ý [ýÊhõ åTöL / Ì[ýNþ
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42. Whch of the following systems is responsible for controlling all the activities in the human body ?
Tö_» åEõçXä$Oôç TöÜ—ö %ç]ç» `»Ý»» aEõã_ç ×yÔÌ̂ ç ×XÌ̂ Ü—öS Eõ»ç» [ýçã[ý VçÌ̂ [ýˆù ?
XÝä»JôÌ[ý åEõçX TöÜ—ö %ç]çãVÌ[ý `Ì[ýÝãÌ[ýÌ[ý a[ýWýÌ[ýãSÌ[ý ×yÔÌ̂ ç ×XÌ̂ Ü—öS EõãÌ[ý ?
(a) Excretory system (b) Circulatory system

å»$JôX TöÜ—ö Y×»[ýc÷X TöÜ—ö
åÌ[ý»JôX TöÜ—ö Y×Ì[ý[ýc÷X TöÜ—ö

(c) Respiratory system (d) Nervous system
`Ÿça TöÜ—ö ØoöçÌ̂ Ç TöÜ—ö
`ŸaX TöÜ—ö ØoöçÌ̂ Ç TöÜ—ö

43. Which of the following can be prepared in our body with the help of sunlight ?
aÉ̂ ïî» åYçc÷»» =Y×Øšö×TöTö Tö_» åEõçXä$Oôç %ç]ç» `»Ý»Tö éTöÌ̂ ç» c÷[ý Yçã» ?
aÉ̂ ïçã_çãEõÌ[ý =Y×Øšö×TöãTö %ç]çãVÌ[ý ̀ Ì[ýÝãÌ[ý .............................. aÊ×rô c÷Ì̂  *
(a) Proteins (b) Vitamin B (c) Vitamin D (d) Magnesium

YÒ×$OôX ×\ö$Oôç×]X ×[ý ×\ö$Oôç×]X ×Qö å]GãX×$K÷Ì̂ ç]
YÒ×»OôX ×\ö»Oôç×]X ×[ý ×\ö»Oôç×]X ×Qö ]îçGãX×aÌ̂ ç]

44. Growing children need more ..............
[ýç×$RÍô %c÷ç _»ç-ä$K÷ç¾ç_Ý» [ýçã[ý %Xî FçVîTöêEõ %×WýEõ Y×»]çS» .............» %ç¾`îEõ*
[ýçQÍöÜ™ö æ»K÷ã_-ã]ãÌ̂ ãVÌ[ý LXî %Xî FçVî åUãEõ %×WýEõ Y×Ì[ý]çãXÌ[ý ................ %ç[ý`îEõ*
(a) Carbohydrates (b) fats (c) Proteins (d) Minerals

Eõç[ýï-c÷ç+äQÎö$Oô $Jô[ýÞ YÒ×$OôX F×XL _¾X
Eõç[ýïc÷ç+äQÎöä»OôÌ[ý »Jô×[ýïÌ[ý YÒ×»OôãXÌ[ý F×XL _[ýãXÌ[ý

45. Digestion is completed in the ...........
................ Tö Yç$JôX a¶YÉSï c÷Ì̂ *
................. Yç»JôX a¶YÉSï c÷Ì̂ *
(a) Large intestine (b) Small intestine (c) Stomach (d) Food pipe

[ýÊc÷VçÜ—ö lÇùVÐçÜ—ö YçEõØšö_Ý FçVîX_Ý
[ýÊc÷VçãÜ—ö lÇùVÐçãÜ—ö YçEõØšö_ÝãTö FçVîX_ÝãTö

46. Which of the following is a microbe ? Tö_» åEõçXä$Oôç %XÇLÝ¾ ? / XÝä»JôÌ[ý åEõçX×»Oô AEõ×»Oô %XÇLÝ[ý ?
(a) Bacteria (b) Virus (c) Fungi (d) All the above

å[ýãkô×»Ì^ç \öç+»ç$Jô å\öEgÇõ» %ç$Oôç+ãEõ+$Oôç
å[ýãkô×Ì[ýÌ̂ ç \öç+Ì[ýça »K÷yçEõ a[ýEõÌ^×»Oô

47. Which of the following diseases is caused because of unclean surroundings and bad food habits ?
å_ãTö»ç Y×»ã¾` %ç»Ó å[ýÌ̂ ç FçVî\öça» [ýçã[ý åc÷ç¾ç å[ý]ç» ×[ýWý ×Eõ ?
åXçeÌ[ýç Y×Ì[ýã[ý` A[ýe [ýçãL FçVî\öçãaÌ[ý Zõã_ aÊrô åÌ[ýçG c÷_ ........................*
(a) Cancer (b) AIDS (c) Small pox (d) Diarrhoea

EõEïõ$Oô A+QËö$Jôô a»Ó %ç+ Qöç+×»Ì̂ ç
EõEïõ»Oô A+Qöa [ýaÜ™ö QöçãÌ^×Ì[ýÌ^ç
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48. Clothes protect us from .........
EõçãYçã» %ç]çEõ .................. » Y»ç »lùç Eõã»*
EõçYQÍö %ç]çãVÌ[ý .................. åUãEõ Ì[ýlùç EõãÌ[ý
(a) Heat (b) Cold (c) Blood pressure (d) Both a & b

TöçY Pöç‰øç »Nþ $JôçY» a %ç»Ó b =\öÌ̂
TöçY Pöç‰øç Ì[ýNþ»JôçY a A[ýe b VÇ×»Oô+

49. High roofs in a house .................
AFX H»» ]ÇWý$Jô CF c÷ã_ ...........................
HãÌ[ýÌ[ý »K÷çV =»JÇô c÷ã_ .....................
(a) keep it cold in summer (b) keep it warm in winter

G»]» ×VXTö +Ì̂ çEõ Pöç‰øç »çãF `ÝTö Eõç_Tö +Ì̂ çEõ G»] »çãF
HÌ[ý GÌ[ýã]Ì[ý ×VãX Pöç‰øç UçãEõ `ÝTöEõçã_ HÌ[ý GÌ[ý] UçãEõ

(c) is good for the rainy season (d) All of these
H»äOôç [ý»bÇS» [ýTö$»» [ýçã[ý \öç_ %ç$Oôç+ãEõ+$Oôç
HÌ[ý×»Oô [ýÊ×rôÌ[ý ×VãXÌ[ý LXî \öç_ a[ýEõÌ^×»Oô

50. When kerosene is poured in water, which of the following will happen ?
å^×TöÌ̂ ç YçXÝTö åEõ»ç×$JôX ×]c÷ã_ç¾ç c÷Ì̂  åTö×TöÌ̂ ç Tö_» åEõçXä$Oôç aeG×PöTö c÷Ì̂  ?
^FX Lã_ åEõãÌ[ýç×aX å]`çãXç c÷Ì̂  TöFX ...................*
(a) Water will float on the kerosene

YçXÝ åEõ»ç×$JôXTö =Y×Iø Uç×Eõ[ý
L_ åEõãÌ[ýç×aãXÌ[ý =YÌ[ý \öçãa

(b) Kerosene will float on water
åEõ»ç×$JôX YçXÝTö =Y×Iø Uç×Eõ[ý
åEõãÌ[ýç×aX Lã_Ì[ý =YÌ[ý \öçãa

(c) Kerosene and water will dissolve in each other
åEõ»ç×$JôX %ç»Ó YçXÝ, +ä$Oôç ×aä$Oôç» _GTö ×]c÷×_ c÷[ý
åEõãÌ[ýç×aX A[ýe L_ AEõ×»Oô %YÌ[ý×»Oô a×c÷Tö ×]ã_ ^çÌ̂

(d) Kerosene and water will get separated on different sides
åEõ»ç×$JôX %ç»Ó YçXÝ VÇ+ %e`Tö ×\ö\öNþ éc÷ ^ç[ý
åEõãÌ[ýç×aX A[ýe L_ VÇ+ \öçãG ×[ý\öNþ c÷ãÌ̂  ^çÌ̂ *

51. Most of the metals are found ..............
.................. YÒçÌ̂  \öçG WýçTÇö åYç¾ç ̂ çÌ̂ *
å[ý`ÝÌ[ý\öçG WýçTÇö YçCÌ̂ ç ̂ çÌ̂  .......................*
(a) in the wood trees (b) on the top of mountains

G$K÷-G$K÷×XTö Y[ýïTö» CY»Tö
Gç»K÷Yç_çÌ̂ Y[ýïãTöÌ[ý =YÌ[ý

(c) deep inside the earth (d) dissolved in water
\Éö-G\öÛTö YçXÝTö VÐ¾Ý\ÉöTö %¾ØšöçTö
\Éö-[ýã\öÛ Lã_ VÐ[ýÝ\ÉöTö %[ýØšöçÌ̂
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52. Which of the following helps the growth of healthy crops ?
Tö_» åEõçXäOôçã¾ `aî» [ýÊ×ˆùTö ac÷çÌ̂  Eõã» ?
........................ ̀ ãaîÌ[ý [ýÊ×ˆùãTö ac÷çÌ̂  EõãÌ[ý*
(a) Pests (b) Insects (c) Goats (d) Good Seeds

EõÝ$Oô YTö† $K÷çG_Ý / »K÷çG_ \öç_ [ýÝL

53. The intermolecular space is more in ............
...................... » %çÜ™öf%çX×¾Eõ VÇ»±¼ö å[ý×$K÷*
........................... %çÜ™öf%çX×[ýEõ VÉÌ[ý±¼ö å[ý̀ Ý*
(a) Mercury (b) Water (c) Hydrogen (d) Iron

Yç»ç YçXÝ c÷ç+QÎöãLX å_ç
YçÌ[ýãVÌ[ý Lã_Ì[ý c÷ç+QÎöãLãXÌ[ý å_çc÷çÌ[ý

54. Electrical energy can be produced by ..............
................. » ¥ç»ç ×[ýVÇîd ̀ ×Nþ =dYçVX Eõ×»[ý Yç×»*
..................... ¥çÌ[ýç ×[ýVÇîd ̀ ×Nþ =dYçVX EõÌ[ýç ̂ çÌ̂ *
(a) Coal (b) Water (c) Uranium (d) All of these

EõÌ^_ç YçXÝ +=ã»SÝÌ̂ ç] %ç$Oôç+ãEõ+$Oôç
EõÌ̂ _çÌ[ý Lã_Ì[ý +=ãÌ[ý×XÌ̂ çã]Ì[ý a[ýEõÌ^×»Oô

55. The force which pulls a body towards the earth is called ..............
×^ [ýã_ [ýØ™Çö A$OôçEõ YÊ×U¾Ý» Zõçã_ %çEÊõrô Eõã» TöçEõ ............. å[ýçã_*
å^ `×Nþ AEõ×»Oô [ýØ™ÇöãEõ YÊ×U[ýÝÌ[ý ×VãEõ %çEÊõrô EõãÌ[ý Töçc÷çãEõ ................... [ýã_*
(a) Friction (b) Gravity (c) Collision (d) None of these

HbïS ]çWýîçEõbïS aeHbï A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

56. Weight is measured in ...................
CLX» AEõEõ ...........................*
CLãXÌ[ý AEõEõ .........................*
(a) Gram (b) Kilogram (c) Newton (d) All of these

GÐç] ×Eõ_'GÐç] / ×Eõã_çGÐç] ×X=$OôX %çOôç+åEõ+Oôç / a[ýEõÌ̂ ×Oô

57. 1 litre = ................ millilitres
1 ×_$. = ........... ×].×_$.
(a) 100 (b) 10 (c) 1000 (d) 10,000

58. We have voice mail facility on ..............
..................Tö \ö+JôË å]+_» aÇ×[ýWýç %çä$K÷*
.............. \öãÌ̂ a å]+ã_Ì[ý aÇ×[ýWýç %çä»K÷*
(a) Sattelite Phones (b) Internet (c) Mobile Phones (d) Fax

æ$Jôä$Oô_ç+$Oô åZõçX +³Oôç»ãX$Oô å]ç[ýç+_ åZõçX åZõj
åaä»Oô_ç+»Oô åZõçãX +³OôçÌ[ýãXä»Oô å]ç[ýç+_ åZõçãX åZõãj
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59. Which of the following is true about the moon ?
Tö_» åEõçXä$Oôç $Jô³VÐ» ålùyTö aTöî ?
XÝä»JôÌ[ý åEõçX×»Oô »Jôä³VÐÌ[ý ålùäy aTöî ?
(a) The moon is a planet (b) The moon moves around the sun

$Jô³VÐä$Oôç A$Oôç GÐc÷ $Jô³VÐ+ aÉ̂ ï» $Jôç×»CZõçã_ HÉã»
»Jô³VÐ AEõ×»Oô GÐc÷ »Jô³VÐ aÉã ï̂Ì[ý »Jôç×Ì[ý×VãEõ HÇãÌ[ý

(c) The moon gives off its own light (d) The moon is nearer to the Earth than to the Sun
$Jô³VÐ ×XLç åYçc÷» %çä$K÷ $Jô³VÐä$Oôç aÉ̂ ïîTöêEõ YÊ×U¾Ý» C$Jô»Tö %çä$K÷
»Jôä³VÐÌ[ý ×XLØ‘ö %çã_ç %çä»K÷ »Jô³VÐ aÉã ï̂Ì[ý »Jôç+ãTö YÊ×U[ýÝÌ[ý ×XEõä»Oô

60. The only planet with life in the solar system is ...........
åaì»LGTö» AEõ]çy LÝ¾ UEõç GÐc÷ä$Oôç éc÷ä$K÷ ......................*
åaìÌ[ýLGãTö LÝ[ý [ýa[ýça EõÌ[ýç AEõ]çy GÐc÷ ...................*
(a) Moon (b) Sun (c) Mars (d) Earth

$Jô³VÐ aÉ̂ ïî [ýÇWý YÊ×U¾Ý

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

61. In an election 27895 votes were polled, 6521 votes were found invalid. How many votes were valid ?
A$Oôç ×X[ýïç$JôXTö ]ÇPö 27895 $Oôç å\öç$Oô Yã», Töçã» 6521 $Oôç å\öç$Oô XçEõ$Jô c÷ã_ ×Eõ]çX$Oôç å\öç$Oô é[ýWý c÷[ý ?
AEõ×»Oô ×X[ýïç»JôãX å]ç»Oô 27895 å\öç»Oô YãÌ[ý, TöçÌ[ý 6521 å\öç»Oô %ê[ýWý c÷ã_ EõTö»Oôç é[ýWý ?
(a) 21,374 (b) 34,416 (c) 21,376 (d) 6,521

62. (137 x 137) - (136 x 136) = ?
(a) 493 (b) 1869 (c) 273 (d) 869

63. If each letter A to F stands for the digits 1,3,4,6,8 and 9 respectively, then the value of (FxB) = ?
^×V A » Y»ç F é_ YÒ×Töä$Oôç %çFã» yÔã] 1,3,4,6,8 %ç»Ó 9 %eEõ åEõ+$OôçEõ [ýÇLçÌ̂ , åTöãÜ™ö (FxB) » ]çX = ?
^×V A åUãEõ F Y ï̂Ü™ö YÒ×Tö×»Oô %lùÌ[ý yÔã] 1,3,4,6,8 A[ýe 9 aeFîçm×_ãEõ [ýÇMõçÌ̂  Töã[ý (FxB) AÌ[ý ]çX ?
(a) (CxD)+E (b) (CxC)+F (c) (CxD)+B (d) DxE

64. Which Roman numerals can be repeated to a maximum of three times in a numbers ?
åEõçXä$Oôç å»ç]çX aeãEõTö» YÇS»ç[ýÊ×wø AOôç aeFîçTö aã[ýïç¬Jô ×Tö×X[ýç»êEõ c÷[ý Yçã» ?
åEõçX åÌ[ýç]çX aeãEõãTöÌ[ý YÇXÌ[ýç[ýÊ×wø AEõ×»Oô aeFîçÌ̂  aã[[ýïç¬Jô ×TöX[ýçÌ[ý c÷ãTö YçãÌ[ý ?
(a) I (b) X (c) Both 'a' & 'b' (d) None of these

I X 'a' %ç»Ó 'b' =\öÌ̂ A$OôçC Xc÷Ì̂
I X 'a' A[ýe 'b' VÇ×»Oô+ AEõ×»OôC XÌ̂
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65. The difference between the greatest 5 digit number and the smallest 6 digit number is ............
5 $Oôç %eEõ ×[ý×`rô %ç$Oôç+TöêEõ QöçIø» aeFîçä$Oôç %ç»Ó 6 $Oôç %eEõ ×[ý×`rô %ç$Oôç+TöêEõ a»Ó aeFîçä$Oôç» YçUïEõî ................*
5 %eEõ ×[ý×`rô a[ý»Jôç+ãTö [ýQÍö aeFîç A[ýe 6 %eEõ ×[ý×`rô a[ý»Jôç+ãTö æ»K÷ç»Oô aeFîçÌ[ý YçUïEõî ........................*
(a) 1 (b) 10 (c) 100 (d) 1000

66. Which of the following is in ascending order ?
Tö_» åEõçXä$Oôç =WýïyÔ]Tö %çä$K÷ ?
XÝä»JôÌ[ý åEõçX×»Oô >W[ýïyÔã] açLçãXç %çä»K÷ ?
(a) 6144, 6344, 6411, 6744 (b) 6744, 6411, 6344, 6144
(c) 6344, 6411, 6144, 6744 (d) 6144, 6411, 6744, 6344

67. Which of the following is another way to write the number "fourteen thousand nine hundred
eighty seven".
Tö_» åEõçXä$Oôç "è$JôWýî c÷çLç» X` açTöç×`'» %Xî A$Oôç »ÖY c÷[ý' ?
"æ»Jôì� c÷çLçÌ[ý XÌ̂ ` açTöç×`'ãEõ XÝä»JôÌ[ý åEõçX Ì[ýÖãY YÒEõç` EõÌ[ýç ^çÌ̂  ?
(a) 14,000,987 (b) 10000+4000+900+80+7
(c) 14x100+9x10+87 (d) 1+4+9+8+7

68. The population of a city is 5,12,10,913 out of which 23,05,218 were males, 18,47,525 were
females and remainings are children. The number of children in the city is ...........
AFX $Jôc÷»» ]ÇPö LXaeFîç 5,12,10,913 Töçã» 23,05,218 LX YÇ»Ób, 18,47,525 LXÝ ]×c÷_ç %ç»Ó [ýçEõÝ×F×X _»ç-
ä$K÷ç¾ç_Ý c÷ã_ $Jôc÷»FXTö UEõç _»ç-ä$K÷ç¾ç_Ý» aeFîç ..............................
AEõ×»Oô `c÷ãÌ[ýÌ[ý å]ç»Oô LXaeFîç 5,12,10,913* +c÷çÌ[ý 23,05,218 LX YÇÌ[ýÓb, 18,47,525 LX ]×c÷_ç A[ýe [ýçEõÝÌ[ýç ×`£
c÷ã_, `c÷Ì[ý×»OôãTö ×`£Ì[ý aeFîç EõTö ?
(a) 4,70,58,170 (b) 5,53,63,656 (c) 5,07,53,220 (d) 5,16,68,606

69. 92294 + 1828 - 6374 - 2190 = ...........................
(a) 85558 (b) 85658 (c) 85858 (d) 8656

70. Find the missing term in the following
Tö_Tö ×VÌ̂ ç _ÇŠ YVä$Oôç =×_C¾ç f
_ÇŠ YV×»Oô [ýç×c÷Ì[ý EõÌ[ý f

12
7 8

9

2
817

?

5

4 6

1

(a) 11 (b) 12 (c) 13 (d) 14
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71. How many times 7 can be subtracted from 147 ?
174 » Y»ç 7 ×Eõ]çX[ýç» ×[ýãÌ̂ çG Eõ×»[ý Yç×» ? / 174 åUãEõ 7 EõTö[ýçÌ[ý ×[ýãÌ̂ çG EõÌ[ýãTö YçÌ[ýç ^çÌ̂  ?
(a) 14 (b) 21 (c) 40 (d) 70

72. Which single digit should replace each of the asterisks, so that the multiplication shown below
would be correct ?
Tö_Tö ×VÌ̂ ç YÉ»S %eEõ» YÒ×Töä$Oôç Tö»ç» ×Jôc÷Ô åEõçXä$Oôç %eEõ» ¥ç»ç a_×X Eõ×»ã_, YÉ»SZõ_ä$Oôç £ˆù c÷[ý ?
YÉÌ[ýS %eãEõÌ[ý TöçÌ[ýçÌ[ý ×»Jôäc÷ÔÌ[ý [ýVã_ åEõçX aeFîç ×Vã_ YÉÌ[ýS×»Oô £ˆù c÷ã[ý ?

(a) 1 (b) 2 (c) 3 (d) 4

73. Which of the follwing is equivalent to (0 ÷13) ?
Tö_» åEõçXä$Oôç (0 ÷13) » a]TÇö_î ?
XÝä»JôÌ[ý åEõçX×»Oô (0 ÷13) AÌ[ý a]TÇö_î ?
(a) 13 (b) 1 (c) 0 x 13 (d) None of these

A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

74. The value of (pspsps ÷ ps) is ....................
(pspsps ÷ ps) » ]çX ............................ (ps éc÷ä$K÷ VÇ$Oôç %eEõ ×[ý×`rô ×^ãEõçãXç A$Oôç aeFîç)
(pspsps ÷ ps) AÌ[ý ]çX .............................. (ps c÷_ VÇ+ %eEõ ×[ý×`rô å^ãEõçãXç AEõ×»Oô aeFîç)
(a) 1001 (b) 10101 (c) 101 (d) 11

75. Which of the following statements is not true ?
Tö_» åEõçXä$Oôç =×Nþ £ˆù Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX =×Nþ×»Oô £ˆù XÌ̂  ?
(a) 2 is the smallest prime number (b) All even numbers are composite number

2 %ç$Oôç+TöêEõ a»Ó å]ì×_Eõ aeFîç aEõã_ç Ç̂G½ aeFîç+ å^ì×GEõ aeFîç
2 a[ý»Jôç+ãTö æ»K÷ç»Oô å]ì×_Eõ aeFîç aEõ_ Ç̂G½ aeFîç å^ì×GEõ aeFîç

(c) 1 is called a unique number (d) None of these
1 éc÷ä$K÷ A$Oôç AEõEõ aeFîç A$OôçC Xc÷Ì̂
1 c÷+_ AEõ×»Oô AEõEõ aeFîç AEõ×»OôC XÌ̂

76. Write the least 2 digit number that has 2,5 and 8 as factors.
2, 5 %ç»Ó 8 =dYçVEõ UEõç %ç$Oôç+TöêEõ a»Ó VÇ$Oôç %eEõ ×[ý×`rô aeFîçä$Oôç ×_Fç*
2, 5 A[ýe 8 =dYçVEõ UçEõç a[ý»Jôç+ãTö æ»K÷ç»Oô VÇ+ %eEõ ×[ý×`rô aeFîç c÷+_ ....................
(a) 80 (b) 40 (c) 16 (d) 10

77. Number of prime numbers from 1 to 50 are ....................
1 %ç»Ó 50 » ]çLTö UEõç å]ì×_Eõ aeFîç» aeFîç ...................
1 A[ýe 50 AÌ[ý ]ãWýî UçEõç a[ýïã]ç»Oô å]ì×_Eõ aeFîç ....................
(a) 18 (b) 12 (c) 15 (d) 16
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78. H.C.F of 36 and 144 is ............................
36 %ç»Ó 144 » G.aç.m ..............................
36 A[ýe 144 AÌ[ý G.aç.m. .................
(a) 36 (b) 144 (c) 4 (d) 2

79. A badminton player won 6 games and lost 4. The fraction of the games he won is .............
ALX å[ýQö×]³OôX åF_Çê¾ãÌ̂  6FX åF_Tö LÌ^_ç\ö Eõã» %ç»Ó 4FXTö Y»ç×LTö c÷Ì^* åTöCg LÌ̂ _ç\ö Eõ»ç åF_» \öGÂçe` éc÷ä$K÷..........
AEõLX å[ýQö×]³OôX åFã_çÌ̂ çQÍö 6 ×Oô åF_çÌ̂  LÌ̂ _ç\ö EõãÌ[ý %çÌ[ý 4 ×»Oôä»Tö YÌ[ýç×LTö c÷Ì̂ * LÌ̂ _ç\ö EõÌ[ýçÌ[ý \öGÂçe` c÷+_ .................

(a) 6
4 (b) 4

6 (c) 6
10 (d) 5

10

80. .................... + 4
7  = 1

(a) 4
7 (b) 1 (c) 3

7 (d) 7
4

81. Three fifth of 11 kg = ..................... gram
11 ×Eõ_'GÐç]» ×Tö×X Y‡û]çe` = ..................... GÐç]
11 ×Eõã_çGÐçã]Ì[ý ×TöX Y‡û]çe` = ..................... GÐç]
(a) 6000 (b) 6600 (c) 11000 (d) 11

82. 5
8  - 2

8  = ..............

(a) (b) (c) (d)

83. 25 + 3
100  + 4

1000  = ......................

(a) 25.34 (b) 25.304 (c) 25.034 (d) 25.0034

84. Which of the following is not true ?
Tö_» åEõçXä$Oôç aTöî Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô aTöî XÌ̂  ?

(a) 85926
1000  = 85.926 (b) 2.1 - 1.11 = 0.99 (c) ++=1 (d) 0.36÷6=0.6

85. The difference between 550 and 804.20 is .............
550 %ç»Ó 804.20 » YçUïEõî ............................
550 A[ýe 804.20 AÌ[ý YçUïEõî ...................

(a) 254.20 (b) 21420 (c) 244.02 (d) 234.20
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86. How many weeks are there in a year ?

AEõ [ý$K÷»Tö ×Eõ]çX aŠçc÷ ? / AEõ [ý»K÷ãÌ[ý EõÌ̂ ×»Oô aŠçc÷ %çãa ?
(a) 55 (b) 53 (c) 51 (d) 52

87. 6 days 5 hrs = ............... hrs
6 ×VX 5 H³OôçTö = ....................... H³Oôç
6 ×VX 5 H³OôçÌ̂  = ....................... H³Oôç
(a) 77 (b) 144 (c) 149 (d) 110

88. The normal height of an adult human can be around .................... cm
ALX YÒçŠ[ýÌ̂ •õ ]çXÇc÷» Ø‘öç\öç×¾Eõ =¬JôTöç YÒçÌ̂  ................ æ$K÷.×].*
AEõLX YÒçŠ[ýÌ̂ •õ ]çXÇãbÌ[ý Ø‘öç\öç×[ýEõ =»Jô¬Töç YÒçÌ̂  ...................... åa.×].*
(a) 50 (b) 150 (c) 300 (d) 600

89. 1 g = ......................... kg.
1 GÐç] = ..................... ×Eõ.GÐç]

(a) 1
1000 (b) 0.001 (c) 1000               (d) Both 'a' & 'b'

a %ç»Ó b =\öÌ^ / a A[ýe b VÇ×»Oô+

90. A milkman sold 25 l  650 ml  of milk in the morning and 22 l  860 ml  in the evening. How much
milk did he sell altogether ?
ALX åGç¾çã_ »ç×TöYÇ¾ç 25×_. 650 ×].×_. %ç»Ó %çã[ý×_ 22×_. 860×].×_. GçFÝ» ×[ýyÔÝ Eõ×»ã_, åTöCg ×VXä$OôçTö ]ÇPöãTö ×Eõ]çX
GçFÝ» ×[ýyÔÝ Eõ×»ã_ ?
AEõLX åGçÌ̂ ç_ aEõçã_ 25×_. 650 ×].×_. A[ýe ×[ýEõçã_ 22×_. 860×].×_. VÇWý ×[ý×yÔ EõÌ[ýã_ ×Tö×X ×VX×»OôãTö å]ç»Oô EõTö»OÇôEÇõ
VÇWý ×[ý×yÔ EõÌ[ýã_X*
(a) 48.510 l  (×_.) (b) 49.510 l  (×_.) (c) 48.500 l  (×_.) (d) 58.510 l  (×_.)

91. Which of the following is true ?
Tö_» åEõçXä$Oôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×»Oô aTöî ?
(a) A line has two end points (b) A line has no end points

AQöç_ å»Fç» VÇ$Oôç YÒçÜ™ö ×[ý³VÇ UçãEõ AQöç_ å»Fç» åEõçãXç YÒçÜ™ö ×[ý³VÇ XçUçãEõ
AEõ×»Oô åÌ[ýFçÌ̂  VÇ×»Oô YÒçÜ™ö ×[ý³VÇ UçãEõ AEõ×»Oô åÌ[ýFçÌ̂  åEõçX YÒçÜ™ö ×[ý³VÇ UçãEõ Xç

(c) A line segment has two end points (d) Both 'b' & 'c'
AQöç_ å»Fç F‰ø» VÇ$Oôç YÒçÜ™ö ×[ý³VÇ UçãEõ 'b' %ç»Ó 'c' =\öÌ̂
AEõ×»Oô åÌ[ýFç Fã‰øÌ[ý VÇ×»Oô YÒçÜ™ö×[ý³VÇ UçãEõ 'b' A[ýe 'c' VÇ×»Oô+

92. How many triangles are there in the diagram given below ?
Tö_Tö ×VÌ̂ ç ×$JôyTö ×Eõ]çX$Oôç ×Åy\ÉöL %çä$K÷ ? XÝã»Jô åVCÌ̂ ç ×»Jôäy EõÌ̂ ×»Oô ×Åy\ÇöL %çä»K÷ ?

(a) 6 (b) 10 (c) 12 (d) None of these
A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂
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93. What is the other name of rectangle with four equal sides ?
$Jôç×»$Oôç a]çX [ýç§ ×[ý×`rô %çÌ̂ Töãlùy» %çX A$Oôç Xç] ×Eõ ?
»Jôç×Ì[ý»Oôç a]çX [ýç§ ×[ý×`rô %çÌ̂ TöãlùäyÌ[ý %YÌ[ý Xç] ×Eõ ?
(a) Triangle (b) Square (c) Circle (d) None of these

×Åy\ÇöL [ýGï [ýÊwø A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

94. How many faces does the figure shown below have ?
Tö_Tö ×VÌ̂ ç ×$Jôy» ]ÇPö ×Eõ]çX$Oôç ×Y×Pö %çä$K÷ ? XÝä»Jô åVCÌ̂ ç ×»Jôäy å]ç»Oô EõÌ̂ ×»Oô ×YPö %çä»K÷ ?

(a) 6 (b) 5 (c) 4 (d) 3

95. The perimeter of a square is ................. times the length of the side.
[ýGïãlùy A$Oôç» Y×»aÝ]ç +Ì̂ ç» [ýç§» éVHïî» .................................. mS*
AEõ×»Oô [ýGïãlùäyÌ[ý Y×Ì[ýaÝ]ç +c÷çÌ[ý [ýç§Ì[ý éVãHïîÌ[ý ....................... mX*
(a) 2 (b) 3 (c) 4 (d) None of these

A$$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

96. The diagram shows a square PQRS / ×$JôyTö PQRS A$Oôç [ýGï / ×»Jôäy PQRS AEõ×»Oô [ýGï

The area of the shaded part is / $K÷çã» %ç[ýÊwø %e`» Eõç×_ ................ / »K÷çÌ̂ çÌ̂  %ç[ýÊwø %eã`Ì[ý Eõç×_ ..............
(a) 10 cm2 (b) 25 cm2 (c) 50 cm2 (d) 100 cm2

10 æ$K÷.×].2 / æ$a.×].2 25 æ$K÷.×].2 / æ$a.×].2 50 æ$K÷.×].2 / æ$a.×].2 100 æ$K÷.×].2 / æ$a.×].2

97. ...................... is expressed in square units
.................................. Eõ [ýGï AEõEõTö YÒEõç` Eõ»ç c÷Ì̂ *
................................. åEõ [ýGï AEõãEõ YÒEõç` EõÌ[ýç c÷Ì̂ *
(a) Perimeter (b) Area (c) Square (d) Rectangle

Y×»aÝ]ç / Y×Ì[ýaÝ]ç ålùyZõ_ [ýGï %çÌ̂ Töãlùy

98. The distance covered by a farmer around a field of 120 m length and 80 m width is ...........
EÊõbEõ ALãX 120 ×]. VÝH_ %ç»Ó 80 ×]. [ýc÷_ YUç» AFX» $Jôç×»CZõçã_ AYçEõ HÉã»çãTö .................... VÉ»±¼ö %ç×TöyÔ] Eõ×»[ý*
AEõLX EÊõbEõ 120 ×] éVHïî A[ýe 80 ×] YÒØšö UçEõç ]çäPöÌ[ý æ»Jôì×VãEõ AEõ[ýçÌ[ý HÇ×Ì[ýã_ ................. VÉÌ[ý±¼ö %×TöyÔ] EõÌ[ýã[ý*
(a) 200m (×].) (b) 300m (×].) (c) 400m (×].) (d) 500m (×].)

5 cm / æK÷.×]. / åa.×].

5 cm / æK÷.×]. / åa.×].
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99. How many chords of a circle can we draw ?
A$Oôç [ýÊwøTö ×Eõ]çX$Oôç Lîç %çg×Eõ[ý Yç×» ?
AEõ×»Oô [ýÊãwø EõÌ̂ ×»Oô Lîç %çg×EõãTö Yç×Ì[ý ?
(a) 1 (b) 2 (c) 3                 (d) Any number

                    ×^ãEõçãXç aeFîEõ / å^ãEõçãXç aeFîç

100. A quadrilateral in which only one pair of opposite sides are parallel is called a .............
×^ä$Oôç $JôTÇö\ÉöÛL» ]çy AãLç» ×[ýY»ÝTö [ýç§ a]çÜ™ö»ç_ TöçãEõ ............................... å[ýçã_*
å^ »JôTÇö\ÉöÛãLÌ[ý ]çy AEõãLçQÍöç ×[ýYÌ[ýÝTö [ýç§ a]çÜ™öÌ[ýçã_ Töçc÷çãEõ .................. [ýã_*
(a) trapezium (b) parallelogram (c) square (d) rectangle

æ®Ïô×Y×LÌ̂ ç] a]çÜ™ö×»Eõ / aç]Ü™ö×Ì[ýEõ [ýGï %çÌ̂ Töãlùy

XXX THE END XXX
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